1-Way ANOVA – Comparison of Comfort Scores for 13 Military Fabric Types
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18L 1

-9.8 44.8 45 20.78 934.95 2007.04

17C 2

-1.4 40.3 45 20.78 491.82 1624.09

176 3

2.4 29.4 45 20.78 337.71 864.36

124 4

9.8 25 45 20.78 120.49 625

20J 5

10.9 31 45 20.78 97.55 961

16C 6

22 26.2 45 20.78 1.50 686.44

12T 7

23.6 27.1 45 20.78 7.97 734.41

14N 8

24.2 30.8 45 20.78 11.72 948.64

19N 9

28.5 36.1 45 20.78 59.65 1303.21

10R 10

28.9 25.7 45 20.78 65.98 660.49

13P 11

37.4 25.3 45 20.78 276.33 640.09

15B 12

46.4 22.5 45 20.78 656.54 506.25

11A 13

47.2 27.8 45 20.78 698.18 772.84

Sum 3760.38 12333.86

SumSq 169217.24 542689.84

SST SSE

ANOVA

Source df SS MS F_obs F(.05) P-value

Trts(Fabric)

Error

Total


p.1. Complete the ANOVA table.

p.2. Compute Tukey’s Honest Significant Difference (E = 0.05)

p.3. Compute Bonferroni’s Minimum Significant Difference (E = 0.05)   # Comparisons = ______________

Display Results (Tukey)
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		Fabric		i		ybar_i		s_i		n_i		ybar		(ybar_i-ybar)^2		(s_i)^2

		18L		1		-9.8		44.8		45		20.78		934.95		2007.04

		17C		2		-1.4		40.3		45		20.78		491.82		1624.09

		176		3		2.4		29.4		45		20.78		337.71		864.36

		124		4		9.8		25		45		20.78		120.49		625

		20J		5		10.9		31		45		20.78		97.55		961

		16C		6		22		26.2		45		20.78		1.50		686.44

		12T		7		23.6		27.1		45		20.78		7.97		734.41

		14N		8		24.2		30.8		45		20.78		11.72		948.64

		19N		9		28.5		36.1		45		20.78		59.65		1303.21

		10R		10		28.9		25.7		45		20.78		65.98		660.49

		13P		11		37.4		25.3		45		20.78		276.33		640.09

		15B		12		46.4		22.5		45		20.78		656.54		506.25

		11A		13		47.2		27.8		45		20.78		698.18		772.84



												Sum		3760.38		12333.86

												SumSq		169217.24		542689.84

														SST		SSE
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		Error
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		ANOVA
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